INTEGRALS OF THE FORM f'(ax + b)

The following are integrals that you should know:

= xn+1
fx" dx +c
n+1
— X
j * dx = e*+c
1 = In|x| + ¢
f Lix |x| +
X
f = sinx+c
cos xdx
f . = —cosx+c
sin xdx
f sectx dx = tanx + ¢
= —cosecx +c
cosec x cot xdx
f cosec’xdx = —cotx+c
fsecxtanxdx = LR

SKILL #2: Integrating f(ax + b)
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1
jf'(ax +b)dx =—f(ax+b) +C
a

Jezxdxz j(3x+4)3dx=
1
j5x+2dx= jsin(l—Sx)dxz

JZsec2(3x—2) dxz‘ Jﬁdxz

Fro Tip: For | (ax + b)™ dx, ensure you 12 _
divide by the (n + 1) and the a (1Ux + 11)




Check Your Understanding
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